1:=0.25 N =26

Att:=

130
136
141
148
154
163
170
180
190
203
214
228
247
267
290
316
350
391
444
513
606
741
950
1330
2222
6660




tXx.

130

266

407

555

709

872

1.042-103

1.222:103

1.412-103

1.615-103

1.829-103

2.057-103

2.304°103

2.571°103

2.861°103

f,:

2.959-10-4

2.828°104

2.728:104

2.599-10-4

2.498:104

2.36°104

2.262:104

2.137°104

2.024-10-4

1.895-104

1.797-104

1.687°104

1.557-104

1.441-104

1.326°104

SSEQV = 3 (£, - F(txi,x))z

i

X = 0.0002

Given

1=1

SSE(\) = 0

A= Minerr(X)

X=3.088 x 10

SSE(N)
N0 -1

=2229x%x 10

11

F(x,N) = X e

Ntx



3x10°

210~ i
f;
F(tXi,>\)
1x10 i
10"
X
o= 0.1
. a . (63 .
qchlsq(;ﬂ . Noj = 36.437 qchlsq(l - 5,2 . NO) = 69.832  pchisq(0.0605,1) = 0.194
X - qchi (1 <2 Nj
N ~qchisq| 1 — —,2-
An = qchisq| E,Z-N — 2 0
2 " 2'(N0_1) = 2-(N -1
(No~1)
1 1 1
Tep = — TB:= — Tn = —
N An B
—4 —4
An = 0.0002250564 XA =3.088 x 10 XB = 4.313 x 10
3 3 3
Tn = 2.318 x 10 Tep = 3.238 x 10 T =4.443 x 10
Tcepl := mean(tx) o := stdev(tx) 1,042
3 3 Tepl
Tepl = 3.661 x 10 o=3.815x10
1
Al =
Tepl
N =2731x 107
- Altx

fIF(tx) == Al - e



3x10

2x10°

Fexi )

gl

£if( tx;)

1x10

1.5¢10%

2x10*

(e

5><103



MpoBepka CrioXHOM MMNoTe3bl O MPUHAANEXHOCTU SKCNOHEHLMANBHOMY

3aKOHY
pexp(txi,k) - 1+I\11 1 = 1; L pexp(txi)\) =
0 0
0 0.039 -8.909-10-4
0| 0.039 0.04 -1.942-10-3
1| 0.079 0.041 -2.73°10-3
2| 0.118 0.042 -3.669-10-3
3| 0.158 0.043 -4,338°10-3
4| 0.197 0.044 -5.316°10-3
5| 0.236 0.044 -5.926°10-3
6| 0.275 0.045 -6.658°10-3
7| 0.314 0.046 -7.271°10-3
8| 0.353 0.047 -8.1°10-3
9| 0.393 0.047 -8.476°10-3
10| 0.432 0.047 -8.664°10-3
11| 047 0.048 -9.113-10-3
pexp(tx,X) = (12| 0.509 0.048 -9.505-10-3
13| 0.548 0.048 -9.768-10-3
14| 0.587 0.048 -9.735°10-3
15| 0.625 0.048 -9.681-10-3
16| 0.664 0.048 -9.492-10-3
17| 0.702 0.048 -9.24-10-3
18| 0.74 0.047 -8.872:10-3
19 0.778 0.047 -8.284-10-3
20| 0.816 0.046 -7.464:10-3
21| 0.854 0.045 -6.222-10-3
22| 0.891 0.043 -4.531-10-3
23| 0.928 0.04 -2.014-10-3
24| 0.964 0.034 4.66°10-3
25| 0.995

'NO - 0.048 = 0.245



